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34.5.2

22a (2 mwp) > 23b (7197 D1D)

Note: in our 82210, the notion of pnnnm p75y 025 is invoked. This refers to inferring information from a later text from the immediately
previous text if the later text begins with conjunctive 1’8y, as in the case of »15n oW which immediately follows m5ynin 7 8777
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I 2 mwn: »™’s unique approach to m»yn pav
a  p”1in case of m»yn pav, must bring "%n DWR (NN exempt)
i Source: Rm1—wo) DR (v. 1) extends to m>yn pav per y™
1 Suggestion: their disagreement is whether pnnnn 115 Y (see note)
(a) Rejection (97): all agree that pnnnn 199 110Y; else we wouldn’t know of pax nonw for 1pa nvy
2 Rather: i infer from nxovn via mMixn:nnen (v. 1) — n”® must be liable for N7 (1) and nxron (Mv)
(a) Whereas: n»yn is liable for nw if mw, and w”an (per *371 — o'nan have only as nnR) if T
(b) p71 infers via nen:nnxn that n”R only applies where n»1ap nron applies — excludes 71 1Y cases
(i) p2pom W' cannot be used part way
(if) Implication: y" holds that v"12 may be used part way? (unlikely)
(c) Rather: y" infers via wa1 DRy from M yn (NNNNN 1YY TY)
(i) o2oom infer (only) from "9n DWR that MY»yYn DWR must be 2 o3 (only 11P9¥n PNNN)
(if) Implication: nan hold that a wip’n can be used part way (unlikely)
(d) Rather: mnan generally agree that n¥nn% wp>n pPR; but here, the w11 from nrvVN trumps
(e) »”r agrees that w"n is generally complete; v. 2 (Dwrn nn) establishes parity between all mnwr (2 nyoo)
(i) 27 even with DWR NN, require "Ry to connect MY»n DWR to NYN TYVR
1. Argument: X"70- 2 @p50 only applies to 'R DWX; but pav shouldn’t cost more than »RTn (NRVN) - "np
(f) Note: this is valid if we learn DwRn nIn nRt in that way; if not, what is the source for 2 ny%0?
(i) Answer: 79792::79792 from nYYn DWR; for NN ANGY (No "197Y1") — from PR:IR
b But: y™ agrees that he doesn’t bring his n>yn-payment until he is certain he violated; at that time he brings 'R Dwr
¢ /1970 7. why should he bring 2 mnwr?
i Rather: let him bring the n»yn+wmn and then an nwk for 2 D’YYo, (same animal for both) stipulating:
1 If: there was a violation, the payment is for n’yn and the animal is the m%»yn owx
2 And if: there was no violation, the payment is a na11 and the animal is n9n Dwr
(a) Note: this proves that 'R nWR doesn’t require N> nnn Ny
II 13 mwn: ™ consents in case of small amount; but why should he bring large amount if it will never be owed ("®T1)?
I 23 mwn: status of N9 NRYN Pav if she found out she was na»n after np*on
a  Rule: complete it as 'R — same type brought (bird)
IV 7 mwn: mYyn poo
a if: there was a piece of 51 and a piece of w7pn and he ate one (didn’t know which)
i opom exempt
ii ~ ¥”% 27N to bring "%n DWR
b If: two different people each ate one piece
i y”r each brings "on DwR
ii ~ w”r together they bring one m%»yn nwx
iii 0y 7 two do not bring '8 DWR together
V1 mwn: classic "9n nwr and “joined certainty”
a  If: there was a piece of 29n and a piece of PN and he ate one (didn’t know which) — n%n pwra a»n
i If helater found out that he ate 29n — must bring nxon
b If: two different people each ate one piece
i y”r each brings "on DwR
ii w7 together they bring one nxon
iii oy 7 two do not bring '8 nxvn together
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VI 1 nwn: case of pav between 19n and pwIpn
a  If: he ate one and didn’t know which — he brings an nYn nwx
b If: he then ate the other — must bring nkvn and m%yn Dwr
¢ If: two different people each ate one piece — each brings n>n nwr
i w™: together they bring one m>yn nwr and one nxvn
ii  »p» 7. two do not bring nwx1 nron together
VII 1t nwn: case of pav between 9N 251 and pwImn a9n
a  If: he ate one and didn’t know which — he brings a nxon (only)
i y”1 must also bring n9n nwr (for m»yn pav)
b If he then ate the other — must bring 2 mxon and 1 m>yn nwr
¢ If two different people each ate one piece — each brings nxon
i y”r each brings "on DwR
ii ~ w”r together they bring one m%»yn nwx
iii oy "7 two do not bring 8T DWR together
VIII n nwn: case of pav between PYIn 25n and M 25N
a  If: he ate one and didn’t know which — he brings a nkon and n%n nwr
b If: he then ate the other — must bring 3 mxon
i Question (3715 827): why not add an nwR for n»yn? (I is V1IP)
ii ~ Answer: this piece was worth less than 8"
1 Challenge: this was a piece worth 9", as we see the 'RT) DwR above
(a) Answer: that was a piece worth 8" before it became a1 — now it is worth less
2 Challenge: in 7:3 mn»3, we had eating 1m for a nkon — and he was liable for an m%yn nwr
(a) Answer: perhaps that was 9m from a noa Nnn3, or in winter, when it doesn’t go bad so quickly
¢ If: two different people each ate one piece — each brings nkvn and "5n Dwr
i w7 each brings one nxon and they bring a third nxon together
ii o 7 any nron brought for a sin may not be brought by two together
1 Note (3775 837): ov "1 only blocks 2 from bringing *®T 1277 together (not nYn nwr); how does he differ from p”n?
2 Proposal: perhaps they disagree about eating 2" of 2 pieces (1 of 1 pav — perhaps no nx)
(a) Rejection: »ov "1 teaches that each has to bring n%n nwr
(b) Rather: this teaches that *o1 "1 is our Xnp Rin
iii  Question: v holds MR Yy YN MOR PR (his ruling — if one eats nY11 on 5”nY — exempt from 3"nv)
1 Therefore: why would 9m1 Moor be added to 250 MoIR?
(a) Suggestion (»mx 772 nww “): he ate a kidney with its fat
(b) Block: then it had p»y moor (that which belongs to nam) —how could 1m add on to it?
2 And: cannot argue that 9m is MmN NOR; since 3"Nv is also Mnn relative to nba3, yet it doesn’t add on
3 Rather: in the context of w1y, the NN ruled that MOR 5 Sn NoR
(a) Per:v.3 which extends nkRmv1 DWTP NYIR MR to eating DMK
(b) Proof:»a1 holds that 5p MR 5y Yn NN NOR, but in DWTP — even TN NOR HY SN HP NOK
(i) Source: »a1 holds that n%yn (5p Mo*R) adds on to 29N MR (MnN) — per v. 4
(c) Challenge: w™ ruled that 1a nor 1 apply to Py (since MR Y YN NOR PR)
(i) Rather:itis a dispute among RN — whether 10R Yy YN MO'R in the context of mWTp
1. Question: according to 1"n that MR Y Yn NOR PR in DWTP, what does ‘1> 29N Y3 mean?
a. Answer: applies to »wp »15n; must hold that »w11p 10 yMna (i.e. at birth) and 250 Mok and
DWTPIN NOR come simultaneously
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